HYCTb N3BECTHbLI Y-napameprl YeTbipexXnositoCHUKaA.

Ucnonb3ya ypaBHeHue 12 = Y21U1 + Y22U2 u ¢popmyny 3akoHa Oma
Aana Harpy3ku U2 = — Zul2, nony4yum BbipaxeHue ans
KOMIIJIeKCHO20 Ko3aghgbuyueHma rnepedayqdu rno Harpsi>keHUro:

Ky =-Y21 /(Yo +Yy)

rae Yu = 1/2n.

Ucnonb3ysa dopmyny ana BxogHou npoBoaumocTtu Yex = [1/U1
n gens ypaBHeHue 11 = Y11U1 + Y12U2 Ha HanpsikeHune U1, Hangem
800HYHO NMPO8OOUMOCMb YeMmbIPEXINOJIFOCHUKA:

Yo = Y11 = Y12 Yo /Yy + Yo )
AHa.l'IOFVI‘-IHO, BbIXOOHAaA I'IpOBO,D,MMOCTb ‘-IeTblpeXI'IO.I'II'OCHVIKa:
YBBIX = Y22 - Y21Y12 /(Yll + YC)

rae Yc =1/Zc.



